
  

Wall-Mount Data Cabinet Assembly Guide

1 Assemble the (2) pcs Frames with 
(1) Top Cover and (1) Bottom Plate.

5 Assemble the Front Glass Door with 
Small Round Lock.

6 Finished Wall-Mount Data Cabinet.

4 Assemble the (2) pcs Side Panels.3 Assemble the Back Panel.

2 Assemble the (4) pcs Mounting Profiles.

Bottom Plate

8 Screws M6*10

Top Cover

8 Screws M6*10

2 Frames

4PCS Mounting Profile

8 Screws M6*10

4 Screws M5*10

Back Panel

Rotation Pin

Plastic Locating Pin

Side Panels

Small Round Lock

Front Glass Door


	Page 1

